Ch 5 Section 8

Buying on an Installment Plan
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· A deferral charge or an administration fee is usually charged.

· You pay this fee and the taxes at the time of your purchase.

· The selling price is divided into monthly payments.

Example 1 :  Bill buys a new stereo that sells for $856.80 plus taxes.  His purchase has a deferral charge of $35 and is paid in 12 monthly payments.

A) What is the total amount to be paid at the time of the purchase?

B) What is the amount of each monthly payment?

Solutions:
A) Pay at time of purchase =  Deferral Fee  +  Taxes
 
       =  $35                + $856.80 × 0.15

      
       =  $35                +  $ 128.52


       =  $ 163.52


The total amount to be paid at the time of purchase is $ 163.52

B) Monthly Payment =  Selling price ÷ number of months

       =  $856.80   ÷   12

       =  $ 71.40


The amount of each monthly payment is $ 71.40

· Other instalment plans add interest, a percent of the selling price, and divide that amount into equal monthly payments.

Example 2 :  Kathie pays $132.75 a month for a $2456 plus taxes dining room suite.  The purchase has a $30 deferral charge and 24 monthly payments.

A) What is the total cash price, including taxes?

B) What is the total amount to be paid at the time of the purchase?

C) What is the total cost of paying by instalments?

D) How much more does it cost to pay by instalments?

Solutions:

A) Total Cash Price = $2456 × 1.15 = $ 2824.40
The total cash price is $ 2824.40

B) Pay at time of purchase =  Deferral Fee  +  Taxes
     
      =  $30                + $2456 × 0.15

     
      =  $30                +  $ 368.40


     
      =  $ 398.40 


The total amount to be paid at the time of purchase is $ 398.40

C) Total Cost of Instalment Plan =  Amount Paid at 
+      Monthly  Payments

         Purchase Time 





     =  $ 398.40    +  $132.75 / month  ×   24 months





     =  $ 398.40    +   $3186






     =  $ 3584.40


The total cost of paying by instalments is $3584.40
      D)  Difference    =   Total Instalment Cost   –   Total Cash Price




=   $3584.40            –          $2824.40




=   $760


It will cost $760 more to pay by instalments.

Ch 5 Section 9
No Interest or Payments for a Specified Time
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Plans that charge no interest or demand no payments for 6 months, a year, or two years may sound very inviting.  However, if you do not pay before the specified time is up, you are charged interest from the time of the purchase.

· a deferral charge or administration fee, as well as the taxes, is paid at the time of the purchase

· the original selling price, is paid before the specified time is up

Example:  Tony went to the sale at the local furniture store.  They are having a no interest or payments for one year.  The administration fee is $38.95.  Tony purchases a $1245 plus taxes TV.  He will get a bill for $1596.44 if the payment is not made before one year is up.
A) What is the total to be paid at the time of purchase?
B) What is the remaining amount to be paid before one year is up?

C) What is the total cost if the items are paid for before one year is up?

D) What amount of interest is charged if the payment is not made before one year is up?

Solutions:

A) Pay at time of purchase =  Administration Fee  +  Taxes
     
      =  $38.95                + $1245 × 0.15

     
      =  $38.95              +  $ 186.75
     
      =  $ 225.70 


The total amount to be paid at the time of purchase is $ 225.70
B) The remaining amount to pay before one year is up is the selling price of $1245.

C) Total Cost (Paid in Time)
=   Pay at time of purchase  +  Remaining Amount

=    
$225.70

  +  $1245

=      $1470.70

The total cost if the items are paid before the one year period is up is $1470.70
D) Interest charged (Not paid in Time) =    Bill    –   Total Cost (Paid in Time)

   =     $1596.44  –  $1470.70
   =   $125.74

Interest in the amount of $125.74 is charged if the payment was not made before one year is up.

